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13. The formulas for a wye-to-delta transformation are

R

a

R1R2+R2R3 +R3R1 R1R2+R2R3+‘
= A Rb =
Rl R2
_ RiRy + RyRy + RyR,
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14. The basic laws covered in this chapter can be applied to the
lems of electrical lighting and design of dc meters.
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2.1 The reciprocal of resistance is: g;) The current 7, of Fig. 2.64 is:

(a) voltage (b) current G\a) 4A (b) -2 A (c)4A (d)16 A
@conductance (d) coulombs

2.2 An electric heater draws 10 A from a 120-V line.
The resistance of the heater is:

() 1200 O (b) 120 Q
@129 @120

he voltage drop across a 1.5-kW toaster that draws
12 A of current is:

(a) 18 kV @125 %
© 120V @ 1042V

2.4) The maximum current that a 2W, 80 k() resistor can
safely conduct is:

(a) 160 kA (b) 40 kA Figure 2_.64 .
For Review Question 2.7.
@5 mA (d) 25 uA

2.5/ A network has 12 branches and 8 independent
b loops. How many nodes are there in the

.
network? (\29 In the circuit in Fig. 2.65, V is:
@19 @7 @5 @ @30V )14V (©)10V @w
)

.6 ) The current / in the circuit of Fig. 2.63 is:

(a) —0.8 A () -02A
(©)0.2 A (d)0.8 A

]\

1
40 o Figure 2.68
For Prob. 2.4
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Section 2.
Figure 2.63 Figure 2.65 ~ 2.5 For

For Review Question 2.6. For Review Question 2.8. of n
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(d)16 A

@6V

Which of the circuits in Fig. 2.66 will give you
vuh =] Ve

2.9

Problems 67

@In the circuit of Fig. 2.67, a decrease in R3leads to a
decrease of:

(a) current through R,
voltage across R,

(c) voltage across R,

@power dissipated in R,

(e) none of the above

R

Figure 2.67
For Review Question 2.10.

Answers: 2.1c, 2.2¢, 2.3b, 2.4c, 2.5¢, 2.6b, 2.7a, 2.8d,
2.9d, 2.10b, d.

The voltage across a 5-k() resistor is 16 V. Find the
current through the resistor.

Find the hot resistance of a lightbulb rated 60 W, 120 V.

A bar of silicon is 4 cm long with a circular cross sec-
tion. If the resistance of the bar is 240 () at room tem-
- Perature, what is the cross-sectional radius of the bar?

(a) Calculate current i in Fig. 2.68 when the switch is
in position 1.

(b) Find the current when the switch is in position 2.
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D23 Nodes, Branches, and Loops

O the netywoy|

k graph in Fig. 2.
£ nodes, bran grapn in Fig. 2.69, find the number

ches, and loops.

Figure 2.69
For Prob. 2.5.

In the network graph shown in Fig. 2.70, determine
the number of branches and nodes.

‘\ 2.6
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Figure 2.70
For Prob. 2.6.





